KBME 11-2-18 F 1318712731

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box) ☐ FEDERAL CANDIDATE

回 STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

	nd Location:	べいらど	=M	Date	ust ·se
KODAS	lm Kre	HAM, K	BMEJAM-	H-	1-18
	/ Beth Davi				
being/on b	ehalf of:Ja	ck Morma	an Campa	ign	
a legally qu	alified candida	ate of the R	epublican		
political par	rty for the offic	e of: <u>Har</u>	ris Coun	tu Commi	issioner I
in the Ge			47	J	
election to b	oe held on:N	ovember	6, 2018		
do hereby re	equest station	time as follow	'S: ::	ag Wildiger in the company of	en en en el distre get
	Time.of				
Broadcast Length	Day, Rotation or	Days	Class	Times per Week	Number of Weeks
	Package			W C R	WAGENS
	See attached				
		•			. 32 pm; . pm; . ;
Bertenkiyê kurê kurê karê	l	v Karaka ser alla, en de vers e	in language at the education of a language		
Attach propo	sed schedule v	vith charges (if available): 🎗	8 1.601 E	n at

I represent that the payment for the above described broadcast time has been furnished

Jack Morman Campaign

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Michael Fleming

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

To Be Signed By Candidate or Authorized Committee

To Be Signed By Station Representative ☐ Accepted in Part ☐ Rejected

Nov 02, 18 CONT# 32315033 Mod# Ver# 1 (Last =) DDS CONT# 0 **REP** iHeartMedia C/P/E: NA / NA / NA TO KBME-AM (Houston-Galveston TX) FΜ **TYLER TOMSON** OFF **DALLAS SALESPERSON FAX#** AGY **DAVIS LENZ MEDIA** ADDR 6060 N CENTRAL EXPRESSWAY SUITE 560 PH # 214-599-0900 **DALLAS, TX 75206** BYR **HALEY BETH DAVIS** ADV **JACK MORMAN FOR COUNTY COMMISSIONER** PDT Jack Morman for County Commissioner -FLT Nov 02, 18 - Nov 11, 18

* REP ORDER COMMENT *

** 11/2/2018 11:21:00 AM: !!!!RATE CLASS: NON-PREEMPTIBLE***THE FUSION REV. TYPE IS NATIONAL AGENCY POLITICAL AND THE INDUSTRY TYPE IS POLITICAL/STATE. PLEASE DO NOT CHANGE WITHOUT CCRS APPROVAL!!!!

** 11/2/2018 11:21:00 AM: ~~~THIS IS A NEW ORDER***PLEASE CONFIRM ON THE STATION ORDER WEBSITE SYSTEM. IF YOU HAVE ANY QUESTIONS CALL OR EMAIL ME AT 214-866-8778 OR ELYSIAHLESTER@IHEARTMEDIA.COM~~~

** 11/2/2018 11:21:00 AM:

Nov 18

HTTP://RADIOEXCHANGE.CLEARCHANNEL.COM/SALES/CATEGORY/PAGES/POLITICALRATECARDS.ASPX

МС	LN	REV TYPE	DAYS	TIME	LEN	EFFECTIVE DATES	# OF Day	NPD	RATE	TOT SPTS
		FLIGHT 1								
	1.1	National Agency-Political	М	10A - 3P	60	11/05/2018 - 11/05/2018	1D	3	\$90.00	3
	1.2	National Agency-Political	M	3P - 7P	60	11/05/2018 - 11/05/2018	1D	4	\$85.00	4
					** FL	IGHT TOTALS **	7	\$610.00		

1404 10									
7							****		***************************************
610.00									
0.00	-				**************************************				
0.00									
610.00									
N	40							TO	ΓAL
									7
									610.00
									0.00
									0.00
							22		610.00
	7 610.00 0.00 0.00	7 610.00 0.00	7 610.00 0.00 0.00	7 610.00 0.00 0.00	7 610.00 0.00 0.00	7 610.00 0.00 0.00	7 610.00 0.00 0.00	7 610.00 0.00 0.00	7 610.00 0.00 0.00 610.00

Nov 02, 18

CONT#

32315033 Mod# Ver# 1 (Last =)

REP

iHeartMedia

DDS CONT# 0 C/P/E: NA / NA / NA

** Competitive Comments **

SVC:

Demo Adults 35+

Nondiscrimination -Paragraphs 49 and 50 of the United States Federal Communications Commission's Report and Order No. 07-217 provides that broadcast stations' advertising contracts will not discriminate on the basis of race or ethnicity, and must contain nondiscrimination clauses. Consistent with this order, Katz Communications, Inc. (including any subsidiary or division of Katz) does not discriminate in any broadcast advertising contract on the basis of race or ethnicity and evaluates, negotiates and completes its broadcast advertising contracts without regard to race or ethnicity.



Order Confirmation

Jack Morman for County Commiss c/o DAVIS LENZ MEDIÁ1 Attn: 6060 N Central Expressway Suite 560 Dallas, TX 75206

Advertiser No: Start Date: End Date: Month Type:

AE:

Note:

Note 2:

Entered: Last Update: Spl Req Inv:

766794 11/02/2018 11/06/2018 Broadcast 11/01/2018 04:22 PM by Fusion 11/01/2018 05:19 PM by ccrhou1a

DALLAS, MMS KBME-AM 32313339 NA NA NA Page 1 of 3 Printed: 11/02/2018 13:47:37

Order No: Contract/Code #:

1318712731 32313339 No

Co-op: Package: CPE:

No NA - NA - NA

Revision #: Agency Comm.: 0 15%

Market Station	Bind To	Start Date	End Date	Of	On Air S W. D		Skip W.	M	Т	w	Т	F	s	s	Spots/ W. Copy Group	Spot Len.	Priority Revenue Type	Rate	Ord. Spots	Ord. Cost
1 Houston	06:00-10:00	11/02/18	11/02/18	1	1	0	0	0	0	0	0	3	0	0	3 1474023 18/JackMormanCntyComm/60	60	500	150.00	3	450.00
KBME-AM	Commercial														Torough Mariotty Committee		National Agency	L-Political		
2 Houston	10:00-15:00	11/02/18	11/02/18	1	1	0	0	0	0	0	0	2	0	0	2 1474023 18/JackMormanCntyComm/60	60	500	90.00	2	180.00
KBME-AM	Commercial														Total and The Committee		National Agency	Political		
3 Houston	06:00-10:00	11/05/18	11/05/18	1	1	0	0	3	0	0	0	0	0	0	3 1474023 18/JackMormanCntyComm/60	60	500	150.00	3	450.00
KBME-AM	Commercial														10/3ackiviointanonty-committou		Motional Agency	. Dalitical		
4 Houston	10:00-15:00	11/05/18	11/05/18	1	1	٥	٥	2	۸	٥	0	٥	0	Λ	2 1474023		National Agency			
KDME AN	0	7.1.50.15	7 17 001 10		,	Ü	Ü	_	٥	v	U	U	U	U	18/JackMormanCntyComm/60	60	500	90.00	2	180.00
KBME-AM	Commercial																National Agency	-Political		
5 Houston	06:00-10:00	11/06/18	11/06/18	1	1	0	0	0	3	0	0	0	0	0	3 1474023 18/JackMormanCntyComm/60	60	500	150.00	3	450.00
KBME-AM	Commercial														, and a similar only dominated		National Agency	Dolitical		
6 Houston	10:00-15:00	11/06/18	11/06/18	1	1	0	0	0	2	0	0	0	0	0	2 1474023	60	500	90.00	2	180.00
KBME-AM	Commercial														18/JackMormanCntyComm/60		National Agency	-Political		



Page 2 of 3 Printed: 11/02/2018 13:47:37

Order No: 1318712731

No. of Spots/Misc/Digital: 15/0/0

Ordered Gross: Agency Commission: Ordered Net: Total Net Due: \$1,890.00 \$283.50 \$1,606.50 \$1,606.50

	Nov	Dec	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov-
Amount Ord: Gross: Net:	15 1,890.00 1,606.50	0 0.00 0.00	0 0.00 0.00	0.00 0.00	0 0.00 0.00								

Participating Customers
Jack Morman for County Commiss

100%

Spot Rotation Spot Title	Spot ID	Cart No	Length	Duration	Rotation
COPY GROUP: 18/JackMormanCntyComm/60	1474023				
Jack Morman for County Commiss	1486695	7663525	60	10/25/2018 - 11/04/2018	75
Jack Morman for County Commiss	1492217	7664524	60	10/25/2018 - 11/04/2018	25